30

18

(29)

72

29




Pressure reducing valve * ot illustrated

ltem Description NO
1 |Pressure Reducing Valve 26.14.20
2 |reducing valve body 26.10.01
3 |pressure pin plate 26.10.02
4 |diaphragm membrane 26.10.03
5 |membrane slide ring 26.10.04
6 |pressure ring for diaphragm membrane 26.10.05
7 |spring cap 26.10.06
8 |diaphragm piston 26.10.07
9 |spring 26.10.08
10 |spring seat 26.10.09
11 |adjusting screw 26.10.10
12 |lock nut 26.10.11
13 |valve piston with soft seat 26.10.12
14 |spring seat 26.10.13
15 |valve spring 26.10.14
16 |safety valve complete with item 17 and 18 26.14.16
17 |valve plate with soft seat 26.14.17
18 |pressure piece for 26.14.16 26.14.18
19 |tubular intermediate piece 26.14.02
20 |union screw R 5/8" 26.14.03
21 |filter inset 26.10.22
22 |o-ring11X25 26.14.04
23 |[screw adapter R 3/8" 26.20.24
24 [tubular intermediate piece M 16 x 1,5 R 3/8" 26.14.07
24a |tubular intermediate piece M 18x1,5/M20x 1,5 26.14.19
25 |union nipple for 15.23.05 26.11.01
26 |union nut R 3/8" 26.11.02
27 |pressure gauge 63 O x 100bar R 1/4" 26.12.01
28 |pressure gauge 63 O x 400bar R 1/4" 26.12.02
29 |gasketring 26.12.03
30 |lock stopper R 1/4" 26.13.01
31 |screw adapter R 1/4" 26.13.02
32 |union nipple for tube 6 x 1 26.13.04
33 |unionnutR 1/4" 26.13.05




	26_Pressure reducing valve_02
	26_Pressure reducing valve_ET_02

